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the accounting cyCLe:capturing economic events

HIGHLIGHTS OF THE CHAPTER

1. The effects of business transactions are recorded in accounting records called journals and ledgers. The recorded data then are used to prepare financial statements and other accounting reports at periodic intervals.

2. Transactions are recorded first in a journal, and the data is later transferred to the ledger. We can best illustrate the nature of these accounting records if we discuss the ledger first.

3. A ledger account may be viewed as the smallest unit of storage in an accounting system. In a manual system, each ledger account is represented by a separate page in a binder. In a computerized system, of course, each unit of storage is maintained electronically using general ledger software. But each general ledger account can still be viewed separately.

4. Each ledger account lists all of the increases and decreases in a particular financial statement account, and also indicates the account’s current “balance.”

5. In its simplest form a ledger account may be viewed as having two sides. The left side of the account is called the debit side; the right side is called the credit side.

6. Information entered on the left side of a ledger account are called debit entries. Information entered on the right side of a ledger account are called credit entries.

7. For all asset accounts, increases are recorded by debit entries, and decreases are recorded by credit entries.

8. For all liability accounts and owners' equity accounts, increases are recorded by credits, and decreases are recorded by debits.

9. The debit and credit rules for recording revenue and expenses are based upon the changes they cause in owners' equity. Revenue increases owners' equity; therefore, revenue is recorded by credit entries. Expenses decrease owners' equity and are recorded debits.

10. The double-entry system of accounting requires that equal dollar amounts of debits and credits be recorded for every transaction.

11. Virtually every business maintains a journal as a record of “original” entry. A journal is a chronological listing of all transactions in the order they occur.

12. The journal shows all information about each transaction: (a) the date of the transaction, (b) the accounts debited and credited, and (c) a brief explanation of the transaction.

13. After a transaction has first been recorded in the journal, each debit and credit is later transferred to the appropriate ledger accounts. This transfer is called posting.

14. Two things can cause changes in owners' equity: (a) owner investments and dividends, and (b) profits or losses resulting from the operation of the business.

15. Profits increase owners' equity, and may either be distributed to the owners or reinvested in the business to help finance expansion and growth. Losses, however, reduce owners' equity, making the owners worse off, economically.

16. Net income is the term most often used to describe increases in owners' equity resulting from profitable operations. Net loss is the term used to describe decreases in owners' equity resulting from unprofitable operations.

17. Net income is computed by deducting expenses incurred during the accounting period from revenue earned during the period. Net income for each accounting period is reported in a financial statement called an income statement.

18. An income statement covers a span of time, whereas a balance sheet shows a company’s financial position at one particular date. The need to relate net income to a period of time is called the time period principle.

19. Revenue is the price charged to customers for goods sold and services rendered during the accounting period. Revenue is not necessarily “cash” flowing into a business. Rather, it is the amount “earned” during the period. Recognizing revenue as it is “earned” illustrates the realization principle. Cash received from customers may be received by a business before revenue is earned, after revenue is earned, or at the same time that revenue is earned.

20. Expenses are the cost of goods and services incurred in the effort to generate revenue. Expenses are typically recorded as “resources” are used up, regardless of when payment for the resources is made. Thus, cash may be paid before resources are used up, after resources are used up, or at the same time that resources are used up.

21. An income statement shows the revenue earned during the period and the expenses incurred during the period in generating that revenue. This policy of offsetting revenue with related expenses is called the matching principle.

22. Businesses often purchase assets that will be “used up” over two or more accounting periods. The matching principle requires that an effort be made to allocate an appropriate portion of the asset’s cost as an expense in each period that the asset helps the business to earn revenue.

23. At the end of the accounting period, when all entries in the journal have been posted to the ledger, the debit or credit balance of each account is computed. These balances are listed in a trial balance. 

24. The trial balance is a two-column schedule listing all of the accounts in the order they appear in the ledger. Debit account balances are shown in the left column and credit account balances are shown in the right column. Since the total of the debit balances should equal the total of the credit balances, the two columns will be equal if the ledger is in balance. However, the amounts shown are not necessarily the correct amounts.

25. The trial balance is not a formal financial statement, but merely a preliminary step to preparing financial statements.

26. The accounting procedures covered in this chapter were part of what is referred to collectively as the accounting cycle. The accounting cycle involves eight steps:  (a) journalizing transactions (b) posting journal entries to ledger accounts, (c) preparing a trial balance, (d) making adjusting entries, (e) preparing an adjusted trial balance (f) preparing financial statements from the adjusted trial balance figures, (g) closing appropriate accounts, and (h) preparing an after-closing trial balance. In this chapter we have illustration d steps a-c of the accounting cycle. In Chapters 4 and 5, the remaining steps will be addressed.

TEST YOURSELF ON THE ACCOUNTING CYCLE

True or False

For each of the following statements, circle the T or the F to indicate whether the statement is true or false.

	T
	F
	1. 
	In a prosperous and solvent business the accounts with credit balances will normally exceed in total dollar amount the accounts with debit balances.



	T
	F
	2. 
	The term debit may signify either an increase or a decrease; the same is true of the term credit.



	T
	F
	3. 
	A business transaction is always recorded in the ledger by entries to two or more different ledger accounts.



	T
	F
	4. 
	An entry on the left side of a ledger account is called a debit entry and an entry on the right side is called a credit entry, regardless of whether the account represents an asset, a liability, or owners' equity.



	T
	F
	5. 
	Accounts representing items which appear on the left-hand side of the balance sheet usually have credit balances.



	T
	F
	6. 
	A trial balance with equal debit and credit totals proves that all transactions have been correctly journalized and posted to the proper ledger accounts.



	T
	F
	7. 
	The sequence of the account titles in a trial balance depends upon the size of the account balances.



	T
	F
	8. 
	A journal entry may include debits to more than one account and credits to more than one account but the total of the debits must always equal the total of the credits.



	T
	F
	9. 
	If a business transaction is recorded correctly, it cannot possibly upset the equality of debits and credits in the ledger.



	T
	F
	10. 
	In a journal entry recording the purchase of a desk for $275.80, both the debit and credit were recorded and posted as $257.80. This transposition error would not be disclosed by the preparation of a trial balance.



	T
	F
	11. 
	The double-entry accounting system means that transactions are recorded both in the journal and in the ledger.



	T
	F
	12. 
	An income statement relates to a specified period time whereas a balance sheet shows the financial position of a business at a particular date.



	T
	F
	13. 
	The realization principle states that a business should never record revenue until cash is collected from the customer.



	T
	F
	14. 
	Expenses cause a decrease in owners' equity and are recorded by debits.



	T
	F
	15. 
	If cash receipts are $10,000 greater than total expenses for a given period, the business will earn a net income of $10,000 or more.



	T
	F
	16. 
	The journal entry to recognize a revenue or an expense usually affects an asset or liability account as well.



	T
	F
	17. 
	Under accrual basis accounting, revenue is recognized when cash is received, and expenses are recognized when cash is paid.



	T
	F
	18. 
	An expense may be recognized and recorded even though no cash outlay has been made.



	T
	F
	19. 
	Buying a building for cash is just exchanging one asset for another and will not result in an expense even in future.



	T
	F
	20. 
	Revenue increases owners' equity and is recorded by a credit.




Completion Statements

	
	
	Fill in the necessary word to complete the following statements:




	
	
	1. 
	Increases in assets are recorded by ___________, and decreases in assets are recorded by credits; increases in accounts appearing on the right side of a balance sheet are recorded by ___________, while decreases in those accounts are recorded by _____________.



	
	
	2. 
	In accounting, the term debit refers to the _________ side of a _________ ________, while the term credit refers to the _____________side.



	
	
	3. 
	Asset accounts appear on the ___________ side of the balance sheet and normally have  ____________balances. Liability and owners' equity accounts appear on the ______________ side of the balance sheet and normally have ___________balances.



	
	
	4. 
	When a company borrows from a bank, two accounts immediately affected are _____________ and ______ ________________. The journal entry to record the transaction requires a ________ to the first account and a ______ to the second one.



	
	
	5. 
	A ___________ _____________is prepared from the ledger accounts at the end of the month (or other accounting period) in order to prove that the total accounts with _______ _____________ is equal to the total accounts with __________ ___________________.



	
	
	6. 
	The ______________ principle of accounting states that revenue should be recognized in the period that it is earned. The ________________ principle indicates that expenses should be recognized in the period in which they help produce _________.



	
	
	7. 
	The principle distinction between expenses and dividends is that expenses are incurred for the purpose of ______________ ______________.




	Multiple Choice

	
	
	Choose the best answer for each of the following questions and enter the identifying letter in the space provided.



	
	__
	1. 
	A ledger contains a separate “account” for each:

a. Business transaction.

b. Business day.

c. Asset, liability, and element of owners' equity.

d. Journal entry.

	
	__
	2. 
	Which of the following statements about the rules for debiting and crediting balance sheet accounts is not true?

a. Liability accounts are reduced by debit entries.

b. Accounts on the left side of the balance sheet are reduced by credit entries.

c. Each transaction is recorded by equal dollar amounts of debits and credits.

d. Owners' equity accounts and asset accounts are increased by the debit entries.

	
	__
	3. 
	The key point of double-entry accounting is that every transaction:

a. Is recorded by equal dollar amounts of debit and credit entries.

b. Is recorded in both the journal and the ledger.

c. Affects both sides of the balance sheet.

d. Is both recorded and posted.

	
	__
	4. 
	A journal consists of:

a. A listing of the balances of the accounts in the ledger.

b. A storage center of information within a computer-based system.

c. A chronological record of individual business transactions.

d. a separate “account” for  each asset, liability, and element of owners' equity.


	
	__
	5. 
	The purpose of a trial balance is:

a. To determine that journal entries are in balance before posting those entries to the ledger.

b. To indicate the effects of business transactions.

c. To prove the equality of debits and credits in the ledger.

d. To determine that the number of ledger accounts with debit balances is equal to the number of credit balances.

	
	__
	6. 
	Red Hill Vineyards completes a transaction which causes an asset account to decrease. Which of the following related effects may also occur?

a. An increase of equal amount in a liability account.

b. An increase of an equal amount in owners' equity.

c. An increase of an equal amount in another asset account.

d. None of the above.

	
	__
	7. 
	The time-period principle:

a. Requires that all companies prepare monthly, quarterly, and annual financial statements.

b. Involves dividing the life of a business entity into accounting periods of equal length.

c. Requires all companies to use a fiscal year ending December 31.

d. Stems from the Internal Revenue Service requirement that taxable income be reported on an annual basis. 

	
	__
	8. 
	The realization principle:

a. Indicates that a business should record revenue when services are rendered or merchandise sold is delivered to customers, even if cash has not yet been received.

b. Indicates that revenue should be recognized in the accounting period when cash is received, even if the business has not yet performed all the required services.

c. Indicates that revenue should be recorded only after two conditions have been met: (1) the earning process is complete, and (2) the cash has been collected.

d. Provides guidelines as to when expenses should be recognized.

	
	__
	9. 
	A produce supplier enters into a contract with a supermarket chain on September 8 to deliver pumpkins in October. The pumpkins are delivered on October 14 at a price of $4,000, $2,000 payable on November 1, and $2,000 December 1. When should the produce supplier record the $4,000 as revenue?

a. September 8.

b. October 14.

c. $2,000 November 1, and $2,000 December 1.

d. When the supermarket sells the pumpkins.

	
	__
	10. 
	The matching principle implies that expenses:

a. Should be deducted from revenue in the period which the suppliers of the goods or services are paid.

b. For a period should be equal in amount to the revenue recognized during the period.

c. Should be deducted in the period in which use of the related goods or services help to produce revenue.

d. Should be equal to the cash payments made during the period.

	
	__
	11. 
	On April 1, Hudson Company received and paid a $700 bill for advertising done in March. In addition to this bill, the company paid $6,100 during April for expenses incurred in that month. On May 2, Hudson Company paid a $4,600 payroll to employees for work done in April. Based on these facts, total expenses for the month of April were:

a. $  6,100.

b. $  6,800.

c. $10,700.

d. $11,400.

	
	__
	12. 
	If a journal entry recognizes an expense, the entry might also:

a. Increase an asset account.

b. Decrease the Capital Stock account.

c. Decrease a liability account.

d. Increase a liability account.


	Exercises

	
	
	1. 
	Listed below are eight technical accounting terms emphasized in this chapter.



	
	
	
	Trial Balance
	Accounting Cycle

	
	
	
	Debit
	Realization principle

	
	
	
	Revenue
	Accrual accounting

	
	
	
	Net income
	Credit

	
	
	
	
	

	
	
	
	Each of the following statements may (or may not) describe one of these technical terms. In the space provided below each statement, indicate the accounting term described, or answer “None” if the statement does not correctly describe any of the terms.



	
	
	a. 
	An eight-step process by which economic events are initially captured and transformed into financial statements.

______________________________________________



	
	
	b. 
	The price of goods sold and services rendered during the period.

______________________________________________



	
	
	c. 
	Revenue earned less expenses incurred during the period.

______________________________________________



	
	
	d. 
	A two-column schedule listing all of the accounts in the general ledger and their respective balances.

______________________________________________



	
	
	e. 
	The generally accepted accounting principle that expenses are to be recognized in the period that the related expenditure helps to produce revenue.

______________________________________________



	
	
	f. 
	The right-hand side of a ledger account.

______________________________________________



	
	
	g. 
	The technique of recognizing revenue when it is earned and expenses when the related goods and services are used, without regard to when cash is received or paid.

______________________________________________




	
	
	2.     
	Show the change in total assets, total liabilities, and total owners' equity that will be caused by posting each amount in the following journal entries. In the effect of transaction row, show the total change in assets, liabilities, and owners' equity that has occurred after all parts of the transaction have been posted. Hint: The effect of each transaction should be that the total change on the left side of the balance sheet (change in assets) should equal the change on the right side (change in liabilities + change in owners' equity). Explanations have been omitted from journal entries to conserve space.



	Journal Entry
	Dr
	Cr
	Assets
	=
	Liabilities
	+
	Owners'

Equity

	Example:
	
	
	
	
	
	
	

	Office Equipment

	600
	
	+600
	
	
	
	

	
Cash 

	
	150
	-150
	
	
	
	

	
Accounts Payable

	
	450
	
	
	+450
	
	

	Effect of transaction
	
	
	+450
	=
	+450
	+
	0

	a. Cash


	1,230
	
	
	
	
	
	

	
Accounts Receivable

	
	1,230
	
	
	
	
	

	Effect of transaction
	
	
	
	=
	
	+
	

	b. Cash


	5,000
	
	
	
	
	
	

	
Capital Stock

	
	5,000
	
	
	
	
	

	Effect of transaction
	
	
	
	
	
	
	

	c. Cash


	3,800
	
	
	
	
	
	

	
Notes Payable

	
	3,800
	
	
	
	
	

	Effect of transaction
	
	
	
	=
	
	+
	

	d. Accounts Payable

	350
	
	
	
	
	
	

	
Cash

	
	350
	
	
	
	
	

	Effect of transaction
	
	
	
	=
	
	+
	

	e. Land


	9,000
	
	
	
	
	
	

	
Cash

	
	1,000
	
	
	
	
	

	
Notes Payable

	
	8,000
	
	
	
	
	

	Effect of transaction
	
	
	
	=
	
	+
	

	
	
	
	
	
	
	
	


	
	
	3.     
	A list of accounts for Jones Company is given below followed by a series of transactions. Indicate the accounts that would be debited and credited in recording each transaction by placing the appropriate account number(s) in the space provided

1. Cash

2. Accounts Receivable

3. Office Equipment

4. Accumulated Depreciation: Office Equipment

21. Notes Payable

22. Accounts Payable

31. Capital Stock

35. Retained Earnings

41. All Revenue Accounts

51. All Expense Accounts

99. Dividends



	
	
	
	Transactions
	Accounts(s)

Debited
	Accounts(s)

Credited

	
	
	
	Example  Purchased office equipment, paying part cash and issuing a note payable for the balance
	3
	1,21

	
	
	
	a.
Paid creditor amount due on open account
	
	

	
	
	
	b.
Collected from customer for services performed by Jones Company in previous period
	
	

	
	
	
	c.
Utility bill is received; payment will be made in 10 days
	
	

	
	
	
	d.
Performed services for a customer; $50 cash received and the balance due in 30 days
	
	

	
	
	
	e.
Office equipment purchased giving note payable
	
	

	
	
	
	f.
Made a Cash distribution to the stockholders.
	
	


	
	
	4.     
	Indicate the effects that each of these transactions will have upon the following six total amounts in the company’s financial statements for the month of May. Use the code letters I for Increase, D for Decrease, and NE for No Effect. 

	
	Income Statement
	
	Balance Sheet

	
Error
	Total 
Revenue
	

	Total 
Expenses
	

	Net 
Income
	

	Total
Assets
	Total
Liabilities
	

	Owners'
Equity

	Example: Rendered services to a customer and received immediate payment in cash but made no record of the transaction
	U
	
	NE
	
	U
	
	U
	NE
	
	U

	a. Payment for repairs erroneously debited to Building account
	
	
	
	
	
	
	
	
	
	

	b. Recorded collection of an account receivable by debiting Cash and crediting a revenue account.
	
	
	
	
	
	
	
	
	
	

	c. Recorded twice revenue earned on account.
	
	
	
	
	
	
	
	
	
	

	d. Recorded twice a purchase of offices supplies on credit
	
	
	
	
	
	
	
	
	
	

	e. Recorded the purchase of office equipment for cash as a debit to Office expense and a credit to cash.
	
	
	
	
	
	
	
	
	
	

	f.  Recorded cash payment for advertising by debiting Repairs Expense and crediting Accounts Payable.
	
	
	
	 
	
	
	
	
	
	


SOLUTIONS TO CHAPTER 3 SELF-TEST

True or False

1. F  Regardless of whether a business is solvent or profitable, the sum of accounts with credit balances (normally Liabilities and Owners' Equity) will always equal the sum of accounts with debit balances (assets).

2. T  The term debit means an entry on the left-hand side of an account, and credit means an entry on the right-hand side of an account. Whether the entry results in an increase or decrease depends upon the type of account affected.

3. T  Equal dollar amounts of debit and credit entries are needed to record each transaction. Although more than two accounts may be affected, a transaction would never involve just a single account.

4. T  By definition, a debit is an amount recorded on the left-hand side of an account and a credit is an amount recorded on the right-hand side of an account.

5. F  Liability and owners' equity accounts normally have credit balances. These accounts appear on the right-hand side of the balance sheets illustrated in your text.

6. F  A “balancing” trial balance only gives assurance that (a) equal debits and credits have been recorded, (b) the balance of each account has been computed correctly, and (c) the addition of account balances in the trial balance has been done accurately.

7. F  Accounts appear in the trial balance in the order in which they appear in the ledger, which is in financial statement order (assets, followed by liabilities, owners’ equity, revenue, and expenses).

8. T  An entry which includes more than one debit or more than one credit is called a compound journal entry.

9. T  Every transaction is to be recorded by an equal dollar amount of debits and credits; recording a transaction properly will maintain equality of debits and credits.

10. T  Since both debit and credit of the original journal entry were equal, the trial balance would still show equality of debits and credits.

11. F  The premise of double-entry accounting means that equal dollar amounts of debits and credits are used to record each business transaction.

12. T  Net income cannot be evaluated unless it is associated with a specific time period.

13. F  The realization principle states that revenue should be recognized when services are rendered or goods are delivered.

14. T  Expenses offset revenue in determining net income and therefore reduce owners’ equity.

15. F  Net income equals revenue minus expenses; cash receipts and revenue are not the same.

16. T  To record an expense, the expense account is debited and cash or a liability is credited; to record revenue, the asset received is debited and revenue is credited.

17. F  Revenue is recognized when earned; expenses are recognized in the period in which the cost helps to produce revenue.

18. T  The cash payment for an expense may occur before, after, or in the same period that an expense helps to produce revenue.

19. F  A portion of the cost of the building will be recognized as depreciation expense each period over the building’s useful life.

20. T  Revenue is the gross increase in owners’ equity resulting from business activities; all increases in owners’ equity are recorded by credits.

Completion Statements

1.  Debits, credits, debits. 2.  Left, ledger account, right.  3.  Left, debit, right, credit. 4.  Cash, Notes Payable, debit, credit. 5.  Trial balance, debit balances, credit balances. 6. Realization, matching, revenue. 7. producing revenue.

Multiple Choice

1. Answer c – a separate ledger account is maintained to record the changes in each asset, liability, and element of owners' equity. Answers a, b, and d all relate to the journal, which consists of a chronological record of business transactions.

2. Answer d is false. Owners' equity accounts appear on the right-hand side of the balance sheet and are increase by credit entries.

3. Answer a – double-entry accounting means that equal dollar amounts of debits and credits are needed to record any business transaction.

4. Answer c  describes a journal. Answer a describes a trial balance; answer b, a database; and answer d, a ledger.

5. Answer c – a trial balance is a listing of the balances of the accounts in the ledger. Answers a and b are incorrect because they relate to data not yet posted into the ledger. Answer d is incorrect because it is the total dollar amount of debit and  credit balances that must be equal, not the number of accounts with each type of balance.

6. Answer c – a decrease in one asset account must be accompanied by an increase in another asset account, or by a decrease in either a liability or an owners' equity account.

7. Answer b – for accounting information to be useful, it must be available on a frequent periodic basis. This requires dividing the overall life of the business entity into equal “accounting periods.” Answer a is incorrect because the principle does not require monthly statements. Answer c is incorrect because a company’s fiscal year need not end on December 31. Answer d is incorrect because generally accepted accounting principles are not governed by income tax laws.

8. Answer a – under the realization principles revenue is recognized when it is earned regardless of when the cash is collected. Answers b and c are incorrect because they tie the recognition of revenue to the collection of cash. Answer d describes the matching principle, not the realization principle.

9. Answer b – the realization principle indicates that revenue should be recognized when it is earned – that is, when services are rendered or when goods sold are delivered to customers.

10. Answer c – expenses should be offset against the revenue produced by these expenditures. Answers a and d are incorrect because the period in which expenses are recognized may differ from the period in which the related cash payments are made. Answer b is incorrect because expenses may differ from revenue by the amount of any net income or net loss.

11. Answer c – $6,100 + $4,600. Answer a excludes the $4,600 in salaries expense for April. Answer b excludes the salaries and improperly includes $700 in advertising expense for the month of March. Answer d improperly includes the $700 in advertising expense applicable to March.

12. Answer d – the debit entry to record an expense is always accompanied by either a credit (decrease) in an asset account, or a credit (increase) in a liability account.

Solutions to Exercises

1.


a. Accounting Cycle

b. Revenue

c. Net income

d. Trial Balance

e. None (The statement describes the matching principle.)

f. Credit

g. Accrual accounting

	
	
	2.
	
	
	

	Journal Entry
	Dr
	Cr
	Assets
	=
	Liabilities
	+
	Owners'

Equity

	a. Cash


	1,230
	
	+1,230
	
	
	
	

	
Accounts Receivable
	
	1,230
	-1,230
	
	
	
	

	Effect of transaction
	
	
	0
	=
	0
	+
	0

	b. Cash


	5,000
	
	+5,000
	
	
	
	

	
Capital Stock

	
	5,000
	
	
	
	
	+5,000

	Effect of transaction
	
	
	+5,000
	=
	0
	+
	+5,000

	c. Cash


	3,800
	
	+3,800
	
	
	
	

	
Notes Payable

	
	3,800
	
	
	+3,800
	
	

	Effect of transaction
	
	
	+3,800
	=
	+3,800
	+
	0

	d. Accounts Payable

	350
	
	
	
	-350
	
	

	
Cash

	
	350
	-350
	
	
	
	

	Effect of transaction
	
	
	-350
	=
	-350
	+
	0

	e. Land


	9,000
	
	+9,000
	
	
	
	

	
Cash

	
	1,000
	-1,000
	
	
	
	

	
Notes Payable

	
	8,000
	
	
	+8,000
	
	

	Effect of transaction
	
	
	+8,000
	=
	+8,000
	+
	0

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


	
	
	3.
	Transactions
	Accounts(s)

Debited
	Accounts(s)

Credited

	
	
	
	a
	22
	1

	
	
	
	b
	1
	2

	
	
	
	c
	51
	22

	
	
	
	d
	1,2
	41

	
	
	
	e
	3
	21

	
	
	
	f
	99
	1

	
	
	
	
	
	


	
	4.
	Income Statement
	Balance Sheet

	
Error
	Total 
Revenue


	Total 
Expenses
	Net 
Income
	Total
Assets
	Total
Liabilities
	Owners'
Equity

	a
	NE
	U
	O
	O
	NE
	O

	b
	O
	NE
	O
	O
	NE
	O

	c
	O
	NE
	O
	O
	NE
	O

	d
	NE
	NE
	NE
	O
	O
	NE

	e
	NE
	O
	U
	U
	N
	U

	f
	NE
	NE
	NE
	O
	O
	NE
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